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1 BEVRERT 268,940 3.04
1A AR E 268,649 3.04
1A1BERESE 190,160 414
1A2 BLE ISR 34,496 3.73
1.A3 &= 34,673 475
1.A.4 EAth 9,320 —
1A4.a fRI5ZE 3,485 1.85
1A4AD(FFEE 4,513 6.73
1.A4.c BMBIE 1,323 3.16
1.B RRER B HERX 291 140.85
1.B.1 EREAHRY NO —
1B.2 AlfMAAR 291 140.85
1.B.3 Efth 2R BSR4 = < RN NE —
2 T3E6M 19,794 4.88
2 ABEEE 6,762 —
2A1 KRAEE 5,820 42
QA2 O AEE 230 21.0
2A3WIBERE 9 60.0
2 A4 Bt FFRtRIE B R FE 650 17.0
2 A5 EAfh 52 60.0
2B{EET*# 2,940 —
2B &4E NO —
2B.2 HEERE 252 5.0
2B3 D BAE NO —
2B4 AT BB BEBRLEE 933 7.0
2B5BELEE NO —
2.B.6 “FLIKEE 199 60.0
2.B.7 IREAINAE E NO —
2B8 AL BLEE 1,547 | 36.0/22.0/685.0/61.0/55.0
2B9 Ea tEE NO —
2.B.10 Efth 10 113.0
2CEEBERE 7,153 —
2.CA it = 7,082 4.41
2C2 ATt E NO 25.0
2C3RIREE NO —
2CATFEEE 62 30.0
2CH#HEE 4 30.0
2.C6 HEEE 5 30.0
2.D FEREREYR R ARI(ER 0.000067 —
2.D.1 BB 0.000063 —
2.D.2 RREER 0.000004 —
2.D.3 AEE B NA —
2.D.4 EAth NA —
2EEBFTH 4,266 —
2E1TERRERoFiBEe 3,749 12.0
2E2 TFT ‘FEEE R 517 12.0
2.E3 & ( KF5HEMR ) NE —
2.E.4 BMERES NE —
2.E.5 Hith NE —
2F IR EYE 2 BRX mER 920 —
2F1 )RR 2 908 5.0
2.F.2 B0 NE —
2.F.3 K | 12 5.0
2.F.4 mBEM NE —
2.F5 IERBIAL NE —
2.F.6 Efh NE —
2.G EfthEmR v BiEHEH 100 =
2.G.1 EFRFE IE —
2.G.2 HthZ S {FF SFs & PFCs 100 5.0
2.G.31FH N,O Ef® NE —
2.G.4 Hith NE —
2. H HAh T 2552 15 —
2H1 BERMEUE T3 15 5.0
3 EFE 3,231 —
JABBGE B 593 16.75
3B ERHEREE 898 27.68/25.58
3.C /KFEfEE 537 -20.64-18.62
3D BELIE - SR 1,175 —-26.20-117.84
3.E BRI E NE —
3.F BIEREmE 1 =
3.GC ANERIE NE —
3.H REMA 27 —-50.00-5.00
3. E EhRALY NE —
4 THFIFE ~ A R M B R R EEERPY -21,850 8.78
4.A AR —21,850 8.78
4. A1 PRITAERF MR I —-21,197 9.03
4.A.2 Elfth+ R A bt —654 17.28
RN 2,679 22.37
5A EfEEEYRIE 544 =
5A1 ZEEB Y BEEYBIEES 413 32.80
5A2 KRB EEIE 7 EEYHIES 131 39.05
5.B ERSEEEY < £V ERIE 50 22.36
5C BEM2ILHEERRIE 509 —
5.C.1 BEEY(L 509 22.36/89.58
5.C.2 BEEWBERIRE NE —
5.D BEKERIBEARUMR 1,577 —
5.D.1 & 5ES/KEREARR 735 30.82/40.18
5.D.2 BEEIKEREAKM 841 24.49/38.73
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